

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

OMB No. 1545-0052

Department of the Treasury

▶ Do not enter Social Security numbers on this form as it may be made public.

2013

		► Information about Form 990-PF and its s	eparate instru	uction	s is at w	ww.irs.gov	/form9	90pf. Open	to Public Inspecti	on
		ndar year 2013 or tax year beginning July	30	, 201	3, and	ending	D	ecember 31	, 20 1:	 3
N	ame of fo	oundation				A Employe	er ident	ification numb	er	
		use Youth Endowment Fund						46-3339507	_	
N	umber ar	nd street (or P.O. box number if mail is not delivered to street address)		Roon	n/suite	B Telephor	ne numb	er (see instructi	ons)	
		nd Road			25		(<u>(207)</u> 985-700	0	
Cı	ity or tow	vn, state or province, country, and ZIP or foreign postal code				C If exemp	tion app	olication is pend	ling, check here≯	亓
		nk, Maine 04043								_
G	Chec		n of a former	public	charity	D 1. Foreig	n organ	izations, check	here ▶	П
		Final return Amended			_	2. Eoreio	n oman	izations-meeting	n the R594 test	
		☐ Address change ☐ Name cha				check	here ar	id attach compi	utation · ▶	
H		k type of organization:						tion status was (A), check here	terminated under	
Щ		on 4947(a)(1) nonexempt charitable trust				555000000000000000000000000000000000000	(5)(1)	ity, check hare		Ц
I		narket value of all assets at J Accounting method	d: 🗹 Cash	□ A	ccrual	F If the fou	ndation	is in a 60-mont	h termination	
		of year (from Part II, col. (c),				under se	ction 50	7(b)(1)(B), chec	k here ▶	
		6) ► \$ 1,673,031 (Part I, column (d) must be	on cash basis	s.)						_
L	art I	Analysis of Revenue and Expenses (The total of	(a) Revenue		(b) Net	investment	(c)	Adjusted net	(d) Disbursement for charitable	S
		amounts In columns (b), (c), and (d) may not necessarily equal the amounts in column (a) (see instructions).)	expenses p	er		come	(0)	income	purposes	
	1 .								(cash basis only	<u> </u>
	1	Contributions, gifts, grants, etc., received (attach schedule)		0,061	70°		1,342	i katifagas si	The Land Street	ૢ૽૾૾ૺ
	2	Check ► if the foundation is not required to attach Sch. B		<u> </u>			7; 4°	1 2 2 1		- 3
	3	Interest on savings and temporary cash investments			ļ				44 (~ 30.150 Mill)	<u></u> ,
	4	Dividends and interest from securities		9,215		9,215		0		<u>:</u>
	5a	Gross rents	4 17 1 3355.36	₹= ±5.			- ,,	, v		<u> </u>
4	b	Net rental income or (loss)		757. 4		12 12 12 12 12 12 12 12 12 12 12 12 12 1		Bergin Lan	**************************************	3
Revenue	6a	Net gain or (loss) from sale of assets not on line 10		4,814			7 . 3		THE PARTY OF THE PARTY OF	-7
	b	Gross sales price for all assets on line 6a	781'63 AL 100'6170	7	है कि जै		1 /4/1		A Marine	<u>*!</u>
ě	7	Capital gain net income (from Part IV, line 2)	Strategy of the strategy of th	Galeria de Roma e de	20-11-11		Rate Co	(3)的经济		
_	8 9	Net short-term capital gain	- 1	3 3 4	*		<u> </u>	1,656	8. 3. 2 mark 1.	- 1
	10a	Income modifications	25 1 34 27	SECTION	روا مأسكتري والمائية -	- 12	4. 3.	23 may 2 - 128 miles	Brack Charte	- 1-2
	1		1 1 2 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2							- ,i -,:3,-
	b	Less: Cost of goods sold	1	Tyl Car		With 衛達 予以外の	* 1	17 - Y-AJ F Z;		, ti
	11	Gross profit or (loss) (attach schedule) Other income (attach schedule)	· · · · · · · · · · · · · · · · · · ·		1376 163	<u>. (</u> , +~, ₹+9 ₹ ° <u>,</u>			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	<u> </u>
	12	Other income (attach schedule)	100	4 000					A CANADA SAN	<u> </u>
_	13	Compensation of officers, directors, trustees, etc.	1,63	4,090		134,029		1,656	STATE .	
ės	14	Other employee salaries and wages							····	_
Sui	15	Pension plans, employee benefits								
Expenses	16a	Legal fees (attach schedule) STMT. 1	<u> </u>	1,892		0			4.00	_
		Accounting fees (attach schedule)		1,032 1140	-	U	-	0	1,89	<u>,∠</u>
<u>ĕ</u> .	c	Other professional fees (attach schedule) STMT 1		2 404	ECF	1/12,40		0		_
Operating and Administrative	17	Interest	1 6	_,-04		,404	70			0
sti	18	Taxes (attach schedule) (see instructions) . STMT .1	8	551	\/ n	4 20 55 1	280	0		_
Ē	19	Depreciation (attach schedule) and depletion	8	-44(1 	S		1.	0
두	20	Occupancy					一页			-
٧	21	Travel, conferences, and meetings		Ω	IDE	NIIT	i	· · · · · · · · · · · · · · · · · · ·		-
Ĕ	22	Printing and publications	<u> </u>	~_		*, */ +				-
9	23	Other expenses (attach schedule)								-
Ę	24	Total operating and administrative expenses.						·		-
ž		Add lines 13 through 23		4,847		2,955		0	1,89	12
لق	25	Contributions, gifts, grants paid		0		-, -,-,-,-	,		1,03	0
۱	26	Total expenses and disbursements. Add lines 24 and 25		4,847		2,955		0	1,89	
	27	Subtract line 26 from line 12:		200	Ţ 3	1. 67 ET.	91 S4	<u>्राज्ञ स्थान</u>	1,00	Ħ
ļ		Excess of revenue over expenses and disbursements	1.62	9,243		`أ-أ وأ≎يد				•
	b	Net investment income (if negative, enter -0-)	(1/7)	-1- ·2	-	131,074	175 -			- '
		Adjusted net income (if negative, enter -0-)		5.	J	3 4 10 (-	<u> </u>	1 7 7 3 3	11/2/14 28 41	

SCANNED NOV 2 8 2014

Part II		Ralance Sheets Attached schedules and amounts in the description column	Beginning of year	End o	of year	
		Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only. (See instructions.)	(a) Book Value	(b) Book Value	(c) Fair Market Value	
l	1	Cash-non-interest-bearing			T	
- 1	2	Savings and temporary cash investments	0	140,489	140,489	•
	3	Savings and temporary cash investments	THE SECTION	te a garanta a fan a Anna a fan a f		
		Less: allowance for doubtful accounts ▶		The state of the s	and - married baselines with 1 age and -	
- 1.	4	Pledges receivable ▶	Contract to	" s s s s	المساوك وتسادي المستعدات	
		Pledges receivable ► Less: allowance for doubtful accounts ►	as to so and a perfect to any accountage, and a			
	5	Grants receivable			<u> </u>	
	6	Receivables due from officers, directors, trustees, and other				
		disqualified persons (attach schedule) (see instructions)				
	7	Other notes and loans receivable (attach schedule) ▶		7, 3, 10, 1		
j		Less: allowance for doubtful accounts ▶		6 (a - 1 - 1 - 1 + 1 + 2 - 1 - 1	1 -10- 1	
छ ।	8	Inventories for sale or use	***************************************			
Assets	9	Prepaid expenses and deferred charges				
8 1		Investments—U.S. and state government obligations (attach schedule)	0	308,376	307 987	STMT
	b	Investments—corporate stock (attach schedule)	0			
	C	Investments—corporate bonds (attach schedule)		1,100,376	1,224,355	JIII
1.	1	Investments—land, buildings, and equipment: basis ▶	× - 25- × 7 ×	" " J. J. 1531 1 1	2015 FAREST	
'	-	Less: accumulated depreciation (attach schedule) ▶		Production of the of the	1 (44.7 to 44.45512) (\$10.1	
12	2	Investments—mortgage loans				
13	2	Incompanies and an Address of a selection of the				
14	4	Land, buildings, and equipment: basis	7. 1 St 1 7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	48 F - 3 X 47		
1.	•	Less: accumulated depreciation (attach schedule) ▶	[2] as an - 1. man - 1. 4 of 22.	J 37222 Co. 1844	Startal Walls . Lat	
15						
10	6	Other assets (describe >) Total assets (to be completed by all filers—see the				
'`	•	instructions. Also, see page 1, item I)		4		
17		Accounts payable and accrued expenses	0	1,629,243	1,673,031	
, 18		Grants payable				
Sel 19		Deferred revenue		 		
差二次			<u> </u>			
Liabilities		Loans from officers, directors, trustees, and other disqualified persons	-			
[2]		Mortgages and other notes payable (attach schedule)		<u> </u>		
22		Other liabilities (describe ►) Total liabilities (add lines 17 through 22)				
23		Total liabilities (add lilles 17 tillough 22)	0	0		
တ္သ		Foundations that follow SFAS 117, check here >				
8		and complete lines 24 through 26 and lines 30 and 31.			建筑设施	
		Unrestricted				
교 연 연		Temporarily restricted				
nd Balances		Permanently restricted				
		Foundations that do not follow SFAS 117, check here ▶ ☑				
-		and complete lines 27 through 31.				
Net Assets or Fu 25 30 31 31		Capital stock, trust principal, or current funds				
등 28		Paid-in or capital surplus, or land, bldg., and equipment fund				
S 29		Retained earnings, accumulated income, endowment, or other funds	0	1,629,243		
≨ 30		Total net assets or fund balances (see instructions)	0	1,629,243		
<u>9</u> 31		Total liabilities and net assets/fund balances (see				
_1		instructions)	0	1,629,243	14 Jan 1 1 - 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
Part I		Analysis of Changes in Net Assets or Fund Balances				
		net assets or fund balances at beginning of year-Part II, colu				
e	nd-o	of-year figure reported on prior year's return)		1	o	
		amount from Part I, line 27a			1,629,243	
		increases not included in line 2 (itemize) ▶			1,020,243	
		ines 1, 2, and 3		4	1,629,243	
		eases not included in line 2 (itemize) ► net assets or fund balances at end of year (line 4 minus line 5)—			0	

Part	(a) List and describe t	he kind(s) of property sold (e.g., real estatuse; or common stock, 200 shs. MLC Co.	е,	(b) How acquired P-Purchase D-Donation	(c) Date acquired (mo , day, yr)	(d) Date sold (mo , day, yr.)
1a	Publicly Traded Securities					
b_	Aston/Fairpointe Fund - Co	GD				
c	Royce Fund - CGD					
d						
е				<u> </u>		
	(e) Gross sales price	(f) Depreciation allowed (or allowable)		r other basis ense of sale		n or (loss) (f) minus (g)
a	1,620,165			1,529,675		90,49
<u>b</u>	21,753			0		21,75
c	12,571			0		12,57
<u>d</u>			L		L	
е						
	Complete only for assets she	owing gain in column (h) and owned	by the foundation	on 12/31/69	(I) Gains (Co	I (h) gain minus
	(I) F.M V as of 12/31/69	(j) Adjusted basis as of 12/31/69		ss of col (i) l. (j), if any		t less than -0-) or from col (h))
a		 				90,490
<u>b</u>						21,753
c			· · · · · · · · · · · · · · · · · · ·			12,571
d						
e						
2	Capital gain net income o		also enter in Pa , enter -0- in Pa		2	124,814
3	Net short-term capital ga	in or (loss) as defined in sections	1222(5) and (6)) :		
		I, line 8, column (c) (see instruc				
	Part I, line 8	<u></u> .	· · · · ·		3	1,656
Part	V Qualification Unc	der Section 4940(e) for Redu	iced Tax on N	let Investment	Income	
Was ti		e this part blank. section 4942 tax on the distribu qualify under section 4940(e). D	table amount of		•	☐ Yes ☐ No
1	Enter the appropriate ame	ount in each column for each yea	ar; see the instri	uctions before ma	aking any entries.	
	(a) Base period years	(b) Adjusted qualifying distributions	s Net value o	(c) f noncharitable-use a		(d) tribution ratio
Cale	ndar year (or tax year beginning in 2012	, , , , , , , , , , , , , , , , , , , ,			(COI. (D)	divided by col (c))
		 	 			
	2011 2010					
	2009					
	2008					
2	Total of line 1, column (d) Average distribution ratio	for the 5-year base period—dividation has been in existence if le	de the total on	line 2 by 5, or by	the	
4	Enter the net value of non	charitable-use assets for 2013 fr	rom Part X, line	5	. 4	
5	Multiply line 4 by line 3				. 5	<u></u>
6	Enter 1% of net investme	nt income (1% of Part I, line 27b)		6	
7	Add lines 5 and 6				. 7	
8		ons from Part XII, line 4 ater than line 7, check the box in				% tax rate. See the

Párt	VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948—see	nstru	ction	ns)		
1a	1a Exempt operating foundations described in section 4940(d)(2), check here ▶ ☐ and enter "N/A" on line 1.					
	Date of ruling or determination letter: (attach copy of letter if necessary—see instructions)					
b						
	here ► □ and enter 1% of Part I, line 27b					
С	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).	um jj ^{eg} t Nagodoby ne		V .2:		
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		o]			
3	Add lines 1 and 2		2,621			
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		0			
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0		2,621	- 5-7-		
6	Credits/Payments:		ميد ا			
a	2013 estimated tax payments and 2012 overpayment credited to 2013 6a 0		46 49			
b	Exempt foreign organizations—tax withheld at source 6b 0	3				
c d	Tax paid with application for extension of time to file (Form 8868) . 6c 2,750 Backup withholding erroneously withheld 6d 0	1. 200, 2		, 1333. 1		
7	Total credits and payments. Add lines 6a through 6d	¥	.' ' <u>.</u>	101		
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached		2,750			
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed		-			
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid > 10		129	-		
11	Enter the amount of line 10 to be: Credited to 2014 estimated tax ▶ 129 Refunded ▶ 11		123			
Part	VII-A Statements Regarding Activities					
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it	25	Yes	No		
	participate or intervene in any political campaign?	1a		1		
b	b Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see Instructions for the definition)?					
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials	1b		1,150		
	published or distributed by the foundation in connection with the activities.			»arı		
C	Did the foundation file Form 1120-POL for this year?	1c	````	√		
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:	3, 3,37				
	(1) On the foundation. ▶ \$ none					
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation managers. ► \$ none			in die Kalie		
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2		√		
	If "Yes," attach a detailed description of the activities.	"; Ä				
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3		*************************************		
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a		√		
b	If "Yes," has it filed a tax return on Form 990-T for this year?	4b	N/A	1		
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5		✓		
	If "Yes," attach the statement required by General Instruction T.	\ , , <u> </u>	- C			
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:	17.54	: : : [ų		
	By language in the governing instrument, or	1. 3	1.1			
	• By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law remain in the governing instrument?	·	l	· (~		
_	· · · · · · · · · · · · · · · · · · ·	6	-			
7 8a	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV	7	V			
oa	Enter the states to which the foundation reports or with which it is registered (see instructions) ► Maine	1 ; 1	211			
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General	د د د		뚜루.		
	(or designate) of each state as required by General Instruction G? If "No," attach explanation	8b	7	با		
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or		*			
•	4942(j)(5) for calendar year 2013 or the taxable year beginning in 2013 (see instructions for Part XIV)? If "Yes,"			' -		
	complete Part XIV	9		✓		
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their	 	$\neg \uparrow$			
	names and addresses See attached Schedule B	10	1			

				ı aye c
	t VII-A Statements Regarding Activities (continued)			
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the	1	}	
	meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions)	11	L	✓
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified			
	person had advisory privileges? If "Yes," attach statement (see instructions)	12		✓
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	1	
	Website address > N/A		<u> </u>	
14		07) 985		
	Located at ▶ 62 Portland Road, Suite 25 ZIP+4 ▶	0404		
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 —Check here.			
13			•	
40			1	
16	At any time during calendar year 2013, did the foundation have an interest in or a signature or other authority	Ĩ1	Yes	No
	over a bank, securities, or other financial account in a foreign country?	16	<u> </u>	/
	See the instructions for exceptions and filing requirements for Form TD F 90-22.1. If "Yes," enter the name of	T . "	الميان ر	*: `
	the foreign country ▶	. "‹	* , .	t,
Par	t VII-B Statements Regarding Activities for Which Form 4720 May Be Required			
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.	, . ,	Yes	No
1a	During the year did the foundation (either directly or indirectly):	3		, ,,, ,
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? Yes No	1.35	, ,50	ن 'نے ا
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a	3 % 4		305-4
	disqualified person?	, '\$	1 . 34	
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? Yes No	Total to	100	
		32.5		Mary .
	 (4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? ☐ Yes ✓ No (5) Transfer any income or assets to a disqualified person (or make any of either available for 	13,1,1	- (4.50)	& 3 10.
			20 mg C	265
	. , , ,		14 1-2	
	(6) Agree to pay money or property to a government official? (Exception. Check "No" if the	~,	*	
	foundation agreed to make a grant to or to employ the official for a period after	2 .	, 45°	1500
	termination of government service, if terminating within 90 days.)		, \.\``\ ''''	337
þ	If any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations		1	
	section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b	N/	Δ
	Organizations relying on a current notice regarding disaster assistance check here	ž ř. t		7
С	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that	2000	: 4.5	
	were not corrected before the first day of the tax year beginning in 2013?	1c	1	2.7
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private	- TO	, 4, 35	¥ 1
-	operating foundation defined in section 4942(j)(3) or 4942(j)(5)):	1	-5 %	Sunt -
_		. W	i a	-
а	At the end of tax year 2013, did the foundation have any undistributed income (lines 6d and	11.12.		B
	6e, Part XIII) for tax year(s) beginning before 2013?	3.5	12. 8	
	If "Yes," list the years ▶ 20 , 20 , 20 , 20		- 1 ;	, , ,
b	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2)		1 28	, , ,
	(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to	1 1 1 2	£ 1	مينة ور
	all years listed, answer "No" and attach statement—see instructions.)	2b	N/	A
C	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.	,	4.7	
	▶ 20 ,20 ,20 ,20	2	1.5	'y ·
За	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise	4	2-3-4 ⁽⁷⁾	-
	at any time during the year?	1,7	٠,,	٠ , ،
L		[, '	gr B	,
b	If "Yes," did it have excess business holdings in 2013 as a result of (1) any purchase by the foundation or	$[\mathcal{E}_{j+1}]$	ازايه (# *, .
	disqualified persons after May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the	1		24
	Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of	', '	7.75	, ,
	the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the			
	foundation had excess business holdings in 2013.)	3b	N/	<u> </u>
4a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		\
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its			
	charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2013?	4b		1

_		_
۲	age	C

Par	t VII-B Statements Regarding A	ctivities	for V	Vhich Form	4720	May Be R	equired	(contir	nued)			
5a	During the year did the foundation pay					-				1 25	10 345	7
	(1) Carry on propaganda, or otherwise	attempt to	influe	ence legislati	on (sec	tion 4945(e))? .	☐ Yes	✓ No	100	13.35° 5 43.38° 4	114 3
	(2) Influence the outcome of any spec			ion (see sect	ion 495	55); or to ca	arry on,			in etc		و کواری
	directly or indirectly, any voter regis	tration dri	ve?					🗌 Yes	✓ No	4.35		
	(3) Provide a grant to an individual for t	ravel, stud	ly, or	other similar	purpos	es?		🗌 Yes	✓ No	1		and a
	(4) Provide a grant to an organization					ation desc	ribed in					
	section 509(a)(1), (2), or (3), or section	on 4940(d)	(2)? (s	see instructio	ns) .			🗌 Yes	✓ No	ર તરે હ	કે.≆' લુકે ન	5 0 (1) 5 0 (1)
	(5) Provide for any purpose other than									136	***	
	purposes, or for the prevention of c	•						Yes	✓ No			i equi
b	If any answer is "Yes" to 5a(1)-(5), did								ibed in		1	
	Regulations section 53,4945 or in a curre		-	•		•	uctions)?		• • • —	5b	N/	A.
	Organizations relying on a current notic	-	_					• •	▶□			146
С	If the answer is "Yes" to question 5a(4								_			4
	because it maintained expenditure resp	-		-			• • •	Yes	∐ No	-37		
	If "Yes," attach the statement required in									180	~;;Y,'g'.	37.33
6a	Did the foundation, during the year, recon a personal benefit contract?								<u> </u>	3 7	The said	
	•							☐ Yes	√ No	₹ <i>n</i>	4.23	L 30 1
þ	Did the foundation, during the year, pay	premium	s, aire	ectly or indire	ctiy, on	a personal	benetit c	contract		6b	, `,	-
70	If "Yes" to 6b, file Form 8870. At any time during the tax year, was the fo	undation o	nortu	to a probibito	d tov ob	altar transac	ation?	□ v	✓ No	4,757	1 35	
	If "Yes," did the foundation receive any									7b	N/	ائدگاریا A
	t VIII Information About Officer								$\overline{}$			<u> </u>
	and Contractors	o, D oo.	J. J,				, . ·		u.u	р.су	,	
1	List all officers, directors, trustees, fo	undation	mana	agers and th	eir con	npensation	ı (see ins	truction	ns).			
	(a) Name and address		(b) Titl	e, and average		mpensation		ntributions		(e) Expe	nse ac	count.
	(a) Name and address	İ		rs per week ed to position	(IT I	not paid, nter -0-)	and deferr	ee benefit j ed compe	nsation		allowar	
Paige (G. Schroeder		Procid	_{ent,} Direc	tor							
62 Port	tland Road, Suite 25, Kennebunk, Maine 04	1043		ary, Treasure		0			0			0
Gerald	line K. Waterhouse											
62 Port	tland Road, Suite 25, Kennebunk, Maine 04	1043	Directo	or		0			0			0
Barry A	A. Tibbetts								İ			
62 Port	tland Road, Suite 25, Kennebunk, Maine 04	1043	Directo	or		0			0			0
· · · · · · · · · · · · · · · · · · ·							1		j			
	urs per week for all				L		<u></u>			\ 16		_
2	Compensation of five highest-paid e "NONE."	mpioyees	s (Oth	er than thos	se inci	uaea on 11	ne 1—se	e instri	Jetions	i). IT no	one, o	enter
((a) Name and address of each employee paid more	than \$50,000		(b) Title, and a hours per v devoted to p	veek	(c) Comper	neation (l) Contribut employee I lans and d compens	penefit eferred	(e) Expe other a	nse aca allowan	
None												
		·										
						[-					
				<u> </u>		L						
Total r	number of other employees paid over \$5	0,000 .	<u> </u>		· · ·	<u>· · · · · · · · · · · · · · · · · · · </u>	· · ·	<u> </u>	. ▶		lone	
									E	om 99	0-PF	(2013)

Part IX-B	Summary of Program-Related Investments (see instructions)	
Describe the	two largest program-related investments made by the foundation during the tax year on lines 1 and 2	Amount
1 N/A		
2		
All other prog	gram-related investments. See instructions.	
3		

Total, Add lir	nes 1 through 3	No

Form **990-PF** (2013)

Part	· · · · · · · · · · · · · · · · · · ·	gn foundation	s,
	see instructions.)		
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes:		
а	Average monthly fair market value of securities	1a	1,070,218
b	Average of monthly cash balances	1b	69,789
С	Fair market value of all other assets (see instructions)	1c	0
d	Total (add lines 1a, b, and c)	1d	1,140,007
е	Reduction claimed for blockage or other factors reported on lines 1a and	70 254	
	1c (attach detailed explanation)		
2	Acquisition indebtedness applicable to line 1 assets	2	0
3	Subtract line 2 from line 1d	.3	1,140,007
4	Cash deemed held for charitable activities. Enter 1 1/2 % of line 3 (for greater amount, see		
	instructions)	4	17,100
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	1,122,907
6	Minimum investment return. Enter 5% of line 5 . Short Tax Period (155 days)	6	23,843
Part		oundations	
1	Minimum investment return from Part X, line 6	1	23,843
2a	Tax on investment income for 2013 from Part VI, line 5	1.7	
b	Income tax for 2013. (This does not include the tax from Part VI.) 2b 0		
С	Add lines 2a and 2b	2c	2,621
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	21,222
4	Recoveries of amounts treated as qualifying distributions	4	0
5	Add lines 3 and 4	5	21,222
6	Deduction from distributable amount (see instructions)	6	0
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII,		
	line 1	7	21,222
			
Part	XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
а	Expenses, contributions, gifts, etc.—total from Part I, column (d), line 26	1a	1,892
b	Program-related investments – total from Part IX-B	1b	0
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,	<u> </u>	
	purposes	2	0
3	Amounts set aside for specific charitable projects that satisfy the:		×
a	Suitability test (prior IRS approval required)	3a	0
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	1,892
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income.		1,032
_	Enter 1% of Part I, line 27b (see instructions)	5	0
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	1,892
J	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating qualifies for the section 4940(e) reduction of tax in those years.		
			- BE

Pai	t XIII Undistributed Income (see instruct	ions)			Page S
1	Distributable amount for 2013 from Part XI,	(a) Corpus	(b) Years prior to 2012	(c) 2012	(d) 2013
2	line 7	2 1 2 2 2 2 2 3 3 3 3 3 3 3 3 3 3 3 3 3			21,222
a b	Total for prior years: 20,20,20		N/A	N/A	A STATE OF THE STA
3 a	107				
b	10/7	- 			
d e	From 2012	H			
f 4	Total of lines 3a through e	N/A			
a b	Applied to 2012, but not more than line 2a .	Array of		N/A	
С	Treated as distributions out of corpus (Election required—see instructions)	N/A	N/A		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
d e	Applied to 2013 distributable amount Remaining amount distributed out of corpus	0			1,892
5	Excess distributions carryover applied to 2013 (If an amount appears in column (d), the same amount must be shown in column (a).)	0	da was		0
6	Enter the net total of each column as indicated below:				
a b	Corpus. Add lines 3f, 4c, and 4e. Subtract line 5 Prior years' undistributed income. Subtract line 4b from line 2b	0	N/A		
С	Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed		N/A		
d	Subtract line 6c from line 6b. Taxable amount—see instructions		N/A		
е	Undistributed income for 2012. Subtract line 4a from line 2a. Taxable amount—see instructions			N/A	
f	Undistributed income for 2013. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2014.				
7	Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (see instructions).	0			19,330
8	Excess distributions carryover from 2008 not applied on line 5 or line 7 (see instructions).	N/A			
9	Excess distributions carryover to 2014. Subtract lines 7 and 8 from line 6a	0			
10	Analysis of line 9:	,			
a b c	Excess from 2009 N/A Excess from 2010 N/A Excess from 2011 N/A				
d e	Excess from 2012				

Part	XIV Private Operating Founda	i tions (see instri	uctions and Part	VII-A, question	9) N/A	
1a	If the foundation has received a ruling foundation, and the ruling is effective for	•				
Ь	Check box to indicate whether the fou	ndation is a private	e operating founda	tion described in s	ection 4942(j)	3) or 4942(j)(5)
2a	Enter the lesser of the adjusted net	Tax year	Ţ '	Prior 3 years		
	income from Part I or the minimum investment return from Part X for each year listed	(a) 2013	(b) 2012	(c) 2011	(d) 2010	(e) Totai
b	85% of line 2a					
С	Qualifying distributions from Part XII, line 4 for each year listed					
d	Amounts included in line 2c not used directly for active conduct of exempt activities					
е	Qualifying distributions made directly for active conduct of exempt activities. Subtract line 2d from line 2c					
3	Complete 3a, b, or c for the alternative test relied upon:					
а	"Assets" alternative test - enter:					
	(1) Value of all assets	}			1	
	(2) Value of assets qualifying under					
	section 4942(j)(3)(B)(i)		Í			
b	"Endowment" alternative test—enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed					
С	"Support" alternative test - enter:					
	(1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section					
	512(a)(5)), or royalties)	<u></u>			<u> </u>	
	(2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)					
	(3) Largest amount of support from an exempt organization					
	(4) Gross investment income					
Part	XV Supplementary Information	n (Complete th	nis part only if t	he foundation l	nad \$5,000 or me	ore in assets at
	any time during the year-					
1	Information Regarding Foundation			· · · · · · · · · · · · · · · · · · ·		
a	List any managers of the foundation of before the close of any tax year (but of	who have contribi				by the foundation
N/A						
b	List any managers of the foundation	who own 10% o	r more of the stoo	ck of a corporation	on (or an equally la	rge portion of the
	ownership of a partnership or other ea	ntity) of which the	foundation has a	10% or greater in	terest.	
N/A						
2	Information Regarding Contribution Check here ▶ ☑ if the foundation unsolicited requests for funds. If the fother conditions, complete items 2a,	only makes cont oundation makes	ributions to prese	lected charitable		
а	The name, address, and telephone nu	amber or e-mail ac	ddress of the pers	on to whom appli	cations should be a	ddressed:
b	The form in which applications should	be submitted an	d information and	materials they sh	ould include:	
	Any submission deadlines					
				, 	 	
d	Any restrictions or limitations on av factors:	vards, such as b	y geographical a	reas, charitable f	leids, kinds of ins	titutions, or other

Par	Supplementary Information (conf	tinued)			, ago i
3	Grants and Contributions Paid During	the Year or Approv	ed for Fu	ture Payment	
	Recipient	if recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of	Purpose of grant or	Amount
		or substantial contributor	recipient	Contribution	
a	Name and address (home or business) Paid during the year	or substantial contributor	recipient	contribution	
b	Total				3a Non
	Tatal				
	Total				h No-

nter	gro	ss amounts unless otherwise indicated.	Orirelated bit	usiness income	Excluded by secti	on 512, 513, or 514	{ (e}
			(a) Business code	(b) Amount	(c) Exclusion code	(d) Amount	Related or exempt function income (See Instructions.)
		gram service revenue:					
	a L		}				
	b.		ļ				
	C						<u></u>
	ď.				ļ		
,	e •		ļ	<u> </u>	 		<u> </u>
		Face and contracts from accommont aronalis	<u> </u>	 	 		
	_	Fees and contracts from government agencies	ļ —				
		nbership dues and assessments rest on savings and temporary cash investments					
		dends and interest from securities				0.045	
		rental income or (loss) from real estate:	1000	(1 (1))	14	9,215	
		Debt-financed property	<u> </u>	·			
		Not debt-financed property			 		
		rental income or (loss) from personal property	 				
		er investment income			 		
		or (loss) from sales of assets other than inventory	<u> </u>		14	124,814	<u> </u>
		income or (loss) from special events				124,014	
		ss profit or (loss) from sales of inventory			 		
		er revenue: a					
))						
	-						
	- :						
	- -						
12 9	Sub	total. Add columns (b), (d), and (e)	,	0	ير څ ، , ، د ي	134,029	
		al. Add line 12, columns (b), (d), and (e)					
10						10	1.54 11/9
See v	vork	sheet in line 13 instructions to verify calculation	ns.)			13	134,028
See v	vork	isheet in line 13 instructions to verify calculation Relationship of Activities to the A	ns.)				134,028
See v Part	vork XV No.	Asheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Asheet in line 13 instructions to verify calculation (I-B Relationship of Activities to the A	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
ee v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		
See v Part Line	vork XV No.	Relationship of Activities to the A Explain below how each activity for which accomplishment of the foundation's exempt pur	ns.) Accomplishm	ent of Exemp	t Purposes		nportantly to the tions.)

.

Part	XVII		n Regarding Tra	nsfers To and	Transa	ctions	and F	Relationsh	ips With I	Noncha	ritab	e	
1	in se		directly or indirectly ne Code (other than									Yes I	40
а	(1) (nsfers from the rep Cash Other assets .	porting foundation t	o a noncharitabl	e exemp	ot organ	ization	of: 			1a(1)	the author	(). ✓
b	Othe (1) S	er transactions: Sales of assets to	a noncharitable ex			 n					1b(1)		<u>/</u>
	(3) F (4) F	Rental of facilities	, equipment, or other rrangements	er assets					· · · ·		1b(3) 1b(4) 1b(5)		<u>/</u>
c d	Shar If the	ring of facilities, e e answer to any	ervices or members quipment, mailing ! of the above is "Ye	ists, other assets	s, or paid e followi	d emplog	yees edule. (Column (b) :	should alw	ays show		fair ma	
	value	e in any transacti	ther assets, or serv	gement, show in	column	(d) the	value o	f the goods,	other asse	ets, or se	rvices	receive	ed.
(a) Line	-+	(b) Amount involved	(c) Name of nonc	charitable exempt org	janization		(d) Descri	ption of transfe	ers, transaction	ns, and sha	anng am	angemen	ts
	\dashv		 		 -								
	_												_
	\dashv												
	\neg					_						 -	
			-										
	\dashv					-+							
	-												
	desc	ribed in section 5	ectly or indirectly a 501(c) of the Code (following schedule	other than sectio						_] Yes	. ✓ N	0
		(a) Name of organ	ization	(b) Type	of organiz	ation			(c) Description	n of relatio	nship		
N/A													
		·		ļ									
													_
Sign Here	corre		declare that I have examination of preparer (other the			nation of w	hich prep			May the I with the I (see instru	RS disci	iss this re	turn elow
Paid Prepa	L	Print/Type preparer Barbara I. Belik	's name	Preparer's signat	ure LD.	Be	سند	Date		k if if employed	PTIN P0	1459740	==
Use C			Bergen & Parkinson						Firm's EIN		01051		
	_	Firm's address ▶	62 Portland Road, S	uite 25, Kennebur	nk, Maine	04043			Phone no		07) 985 orm 9 9	-7000 O-PF (2013)

Schedule B

(Form 990, 990-EZ, or 990-PF)

Department of the Treasury Internal Revenue Service

Schedule of Contributors

▶ Attach to Form 990, Form 990-EZ, or Form 990-PF. ▶ Information about Schedule B (Form 990, 990-EZ, or 990-PF) and its instructions is at www.lrs.gov/form990. OMB No. 1545-0047

Name o	f the organization			Employer identification number
Waterho	ouse Youth Endowment	t Fund		46-3339507
Organi	zation type (check on	ne):	_	
Filers o	of:	Section:		
Form 9	90 or 990-EZ	☐ 501(c)() (enter number) organization	
		☐ 4947(a)(1) nor	nexempt charitable trust not treated as a private for	undation
		☐ 527 political o	organization	
Form 99	90-PF	√ 501(c)(3) exen	npt private foundation	
		☐ 4947(a)(1) nor	nexempt charitable trust treated as a private founda	ition
		☐ 501(c)(3) taxal	ole private foundation	
	only a section 501(c)(7)	-	neral Rule or a Special Rule. zation can check boxes for both the General Rule a	and a Special Rule. See
Genera	l Rule			
V	_	•	0-EZ, or 990-PF that received, during the year, \$5,0 mplete Parts I and II.)00 or more (in money or
Special	Rules			
	under sections 509(a	a)(1) and 170(b)(1)(A 000 or (2) 2% of th	g Form 990 or 990-EZ that met the 33½ % suppor (vi) and received from any one contributor, during the amount on (i) Form 990, Part VIII, line 1h, or (ii) Form	the year, a contribution of
	during the year, total	contributions of m	nization filing Form 990 or 990-EZ that received from ore than \$1,000 for use <i>exclusively</i> for religious, cha ion of cruelty to children or animals. Complete Part	aritable, scientific, literary,
	during the year, cont not total to more tha year for an exclusive	tributions for use e. n \$1,000. If this bo ly religious, charita ization because it r	nization filing Form 990 or 990-EZ that received fro xclusively for religious, charitable, etc., purposes, be x is checked, enter here the total contributions that ble, etc., purpose Do not complete any of the part received nonexclusively religious, charitable, etc., co.	out these contributions did t were received during the ts unless the General Rule contributions of \$5,000 or
		t is not covered by	the General Rule and/or the Special Rules does no Part IV, line 2, of its Form 990; or check the box o	ot file Schedule B (Form 990,

Form 990-PF, Part I, line 2, to certify that it does not meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF).

Schedule B (Form 990, 990-EZ, or 990-PF) (2013) Name of organization **Employer identification number** Waterhouse Youth Endowment Fund 46-3339507 Contributors (see instructions). Use duplicate copies of Part I if additional space is needed. Part I (a) (c)
Total contributions No. Name, address, and ZIP + 4 Type of contribution XX 1. Geraldine K. Waterhouse Person Payroll Noncash $\overline{\mathbf{V}}$ c/o Bergen & Parkinson, LLC, 62 Portland Road, Suite 25 1,500,061 (Complete Part II for noncash contributions.) Kennebunk, Maine 04043 (b) (a) (c) (d) No. Total contributions Name, address, and ZIP + 4 Type of contribution Person \Box Payroll Noncash (Complete Part II for noncash contributions.) (a) (b) (c) (d) No. Name, address, and ZIP + 4 **Total contributions** Type of contribution Person Payroll \Box Noncash (Complete Part II for noncash contributions.) (a) (b) (c) (d) Total contributions Name, address, and ZIP + 4 Type of contribution No. Person **Payroll** Noncash (Complete Part II for

			noncash contributions)		
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution		
		\$	Person		
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution		
		\$	Person		
		i i			

Name of	organization		Employer identification number
Waterhou	se Youth Endowment Fund		46-3339507
Part II	Noncash Property (see instructions). Use duplicate copies	of Part II if additional	space is needed.
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
	Publicly Traded Securities		
1		\$ 1,594,80	9/17/2013
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	

Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/13	EIN #46-3339507
Part I, Analysis of Revenue and Expenses	
Line 16a, Legal Fees	
Tax Compliance and Consulting Fees	<u>\$1,892</u>
Line 16c, Other Professional Fees	
Investment Management Fees	<u>\$2,404</u>

Line 18, Taxes

Foreign Taxes Paid on Dividends

<u>\$ 551</u>

EIN # 46-3339507

 Waterhouse Youth Endowment Fund Form 990-PF
 Tax Year Ended 12/31/13

Part II, Balance Sheets Line 10a, Investments – U.S. and State Government Obligations

XED INCOME Description	Quantity	Unit price	Market Value	Cost per unit	Tax cost
Fixed income mutual funds					
ISHARES BARCLAYS 1-3 YR TREAS FD CLOSED-END FUND SHY	3,650.000	84.38	307,987.00	84.49	308,376.09
Total Fixed income mutual funds			\$307,987.00		\$308,376.09
OTAL FIXED INCOME			\$307,987.00		\$308,376:09

Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/13

Part II, Balance Sheets Line 10b, Investments – Corporate Stock

UITIES		1 danish	Blaylook	04	T
Description	Quantity	Unit price	Market value	Cost per unit	Tax cost
Common Stock					
ACCENTURE PLC FGN COM CL A ACN	100.00	82.22	8,222.00	73.86	7,386.00
EATON CORP PLC FGN COM ETN	100.00	76:12	7,612.00	69.20	6,920.00
XL GROUP PLC FGN COM XL	300.00	31.84	9,552.00	30.73	9,219.00
AMAZON COM INC AMZN	25.00	398.79	9,969.75	325.70	8,142.50
AMERICAN WATER WORKS CO INC AWK	50.00	42.26	2,113.00	41.01	2,050.60
APPLE INC AAPL	25.00	561.02	14,025.50	479 86	11,996.50
CMS ENERGY CORP CMS	300.00	26.77	8,031.00	26.24	7,872.0
CELGENE CORP CELG	50.00	168.97	8,448.40	155.68	7,784.0
CHEVRON CORP CVX	100.00	124.91	12,491.00	121.73	12,173.0
CINCINNATI FINANCIAL CORP CINF	150.00	52.37	7,855.50	47.13	7,069.5
COCA COLA CO KO	250.00	41.31	10,327.50	38.04	9,510.0
CONOCOPHILLIPS COP	100.00	70.65	7,065:00	69.56	6,956.0
COSTCO WHOLESALE CORP COST	50.00	119.02	5,951.00	115.05	5,752.5

Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/13

Part II, Balance Sheets Line 10b, Investments - Corporate Stock

CONTINUED

ITIES		1125	. Bandica	0-4	- -
Description	Quantity	Unit price	Market value	Cost per unit	- Ta.
DANAHER CORP DEL DHR	150.00	77.20	11,580.00	69.74	10,461.50
WALT DISNEY CO DIS	150.00	76.40	11,460.00	64.90	9,735.0
EMC CORP EMC	250.00	25.15	6,287.50	25.81	6,452.5
ENERGEN CORP EGN	100.00	70.75	7,075.00	76.17	7,617.0
ENERGIZER HOLDINGS INC ENR	50.00	108.24	5;412.00	91.68	4,584.0
GILEAD SCIENCES INC GILD	100.00	75.10	7,510.00	63.68	6,368.0
HALLIBURTON CO HAL	150.00	50.75	7,612.50	48.36	7,254.0
HOME DEPOT INC HD	100.00	82.34	8,234.00	75.77	7,577.0
INTEL CORP INTC	250.00	25.95	6,488.75	22.97	5,741.5
INTERNATIONAL BUSINESS MACHS IBM	50.00	187.57	9,378.50	186.01	9,300.5
JP MORGAN CHASE & CO JPM	200.00	58.48	11,696.00	52.02	10,404.0
JOHNSON & JOHNSON JNJ	100.00	91.59	9,159.00	86.74	8,674.0
KRAFT FOODS GROUP INC KRFT	150.00	53.91	8,086.50	52.48	7,872.0
LENNAR CORP LEN	200.00	39.56	7,912.00	35.49	7,098.0
MASTERCARD INC COM CL A MA	25.00	835.46	20,886.50	713.37	17,834.2

Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/13

Part II, Balance Sheets Line 10b, Investments – Corporate Stock

CONTINUED

JITIES		44.45			_
Description	Quantity	Unit price	Market value	Cost per unit	Ta. cos
MCCORMICK & CO INC MKC	50.00	68.92	3,446.00	64.83	3,241.50
MCDONALDS CORP MCD	50.00	97.03	4,851.50	96.50	4,825.0
MCKESSON CORP MCK	50.00	161.40	8,070.00	128.48	6,424.0
MERCK & CO INC MRK	150.00	50.05	7,507.50	47.38	7,107.0
METLIFE INC MET	150.00	53.92	8,088.00	46.86	7,029.0
MICROSOFT CORP MSFT	200.00	37.41	7,482.00	32.95	6,590.0
MORGAN STANLEY MS	350.00	31.36	10,976.00	26.98	9,443.0
NEWMONT MINING CORP NEM	50.00	23.03	1,151.50	28.19	1,409.5
NIKE INC COM CL B NKE	100.00	78.64	7,864.00	73.08	7,308.0
NORFOLK SOUTHERN CORP NSC	50.00	92.83	4,641.50	77.50	3,874.8
OCCIDENTAL PETE CORP DEL OXY	50.00	95.10	4,755.00	93.12	4,656.0
PFIZER INC PFE	250.00	30.63	7,657.50	28.76	7,190.0
PHILLIPS 66 PSX	100.00	77.13	7,713.00	57.40	5,740.0
Praxair inc Px	50.00	130.03	6,501.50	119.83	5,991.5
T ROWE PRICE GROUP INC TROW	100.00	83.77	8,377.00	71.80	7,180.0

Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/13

Part II, Balance Sheets Line 10b, Investments – Corporate Stock

CONTINUED

Description	Quantity	Unit price	Market value	Cost per unit	Ta. cos
PROCTER & GAMBLE CO	150.00	81,41	12,211.50	76.62	11,493.5
PG	100.00	01,41	12,211.00	70.02	11,493.0
QUALCOMM INC QCOM	150.00	74.25	11,137.50	67.51	10,126.5
REPUBLIC SERVICES INC COM CL A RSG	200.00	33.20	6,640.00	33.53	6,705.9
HENRY SCHEIN INC HSIC	50.00	114.26	5,713.00	103.20	5,160.0
STARBUCKS CORP SBUX	100.00	78.39	7,839.00	76.77	7,677.0
SUNTRUST BANKS INC STI	200.00	36.81	7,362.00	32.50	6,500.0
THERMO FISHER SCIENTIFIC INC TMO	100.00	111.35	11,135.00	92.58	9,258.0
UNITED PARCEL SERVICE INC COM CL B UPS	100.00	105.08	10,508.00	91.70	9,170.0
UNITED TECHNOLOGIES CORP UTX	100.00	113.80	11,380.00	108.96	10,896.0
VERIZON COMMUNICATIONS INC VZ	150.00	49.14	7,371.00	46.62	6,993.0
WELLS FARGO CO WFC	200.00	45.40	9,080.00	41.45	8,290.0
ZIONS BANCORP ZION	250.00	29.96	7,490.00	27.30	6,825.0
otal Common Stock			\$457,390.90		\$416,909.1
equity mutual funds					
ASTON/FAIRPOINTE MID CAP FUND OPEN-END FUND CL I ABMIX	5,595.189	44.67	249,937.09	44.83	250,851.6
HARBOR INTERNATIONAL FD OPEN-END FUND HAINX	3,679.607	71.01	261,288.89	69.24	254,791.0
T ROWE PRICE EMERGING MKTS STK OPÉN-END FÜND PRMSX	3,727.828	32.22	120,110.62	32.01	119,325.0
ROYCE FD PREMIER SER MUTUAL FUND	6,143.266	22.11	135,827.61	22.54	138,500.8
RYPRX			\$707 464 64		A
otal Equity mutual funds AL EQUITIES			\$767,164.21	·	\$763,468.4 \$1,180,377.5

Form 8868 (H	18V 1-2014)						Page 2	
 If you are 	e filing for an Additional (Not Automatic) 3-Mo	onth Exten	sion, complete only	Part II and check th	is bo	(. ▶ 🗸	
Note. Only	y complete Part II if you have already been gran	ited an aut	omatic 3-month exte	ension on a previously	filed	Form 8868	8.	
	e filing for an Automatic 3-Month Extension, c							
Part II	Additional (Not Automatic) 3-Month Ex	xtension	of Time. Only file t	he original (no copi	es ne	eded).		
				Enter filer's identifyin			structions	
Time on	Name of exempt organization or other filer, see in	structions.		Employer identification	ation number (EIN) or			
Type or print	Waterhouse Youth Endowment Fund							
-	Number, street, and room or suite no. If a P O. bo	x see Instri	ictions	Social security number	46-3339507 mber (SSN)			
File by the due date for		, 000 II 10ti 1	30.10.10.	Coolar cooding mamber	,00.1	,		
filing your	62 Portland Road, Suite 25 City, town or post office, state, and ZIP code. For	e foreign a	dress see instruction					
return. See		u loreign u	Janess, See mendenen	J.				
nstructions.	Kennebunk, ME 04043							
Enter the F	Return code for the return that this application is	s for (file a	separate application	for each return) .	. ,		0 4	
Applicati	00	Return	Application			ъ	Return	
is For	0(1	Code	Is For			1	Code	
	E 000 F7		18 101				Code	
	or Form 990-EZ	01	l					
Form 990		02	Form 1041-A				8	
	0 (individual)	03	Form 4720 (other t	han individual)			09	
Form 990		04	Form 5227				10	
Form 990	I-T (sec 401(a) or 408(a) trust)	05	Form 6069				11	
Form 990	-T (trust other than above)	06	Form 8870				12	
STOP! Do i	not complete Part II if you were not already gra	nted an a	tomatic 3-month ex	tension on a previous	lv file	d Form 88	68	
				teriolon on a provious				
The book	As are in the care of ▶ Paige G. Schroeder, Treas	urer						
Telephor			Vo. ▶		••••			
If the org	anization does not have an office or place of be	usiness in t	the United States, ch	neck this box			. ▶ □	
	for a Group Return, enter the organization's fou							
	ole group, check this box ▶ 🗍 . If i							
	e names and EINs of all members the extension		. oo g. cup, oov.				0,, 0	
4 I red	quest an additional 3-month extension of time i	until	November 15	20 14	ı			
5 For	quest an additional 3-month extension of time is calendar year, or other tax year beginning	na I	ulv 30 20 13	and ending D	ecem	her 31	20 13	
6 If th	ne tax year entered in line 5 is for less than 12 m	nonths ch	ack reason: [7] Initia	I return Final retu	m	,	20	
		HOHEHS, CH	ECK TEASOTI. [V] trittle	iretuiti 🗆 Finanietui	111			
	Change in accounting period		t	made and the 1 dec.				
	te in detail why you need the extension Addi							
com	plete and accurate return.							
					,			
	is application is for Forms 990-BL, 990-PF, 99	0-T, 4720,	or 6069, enter the te	entative tax, less any				
non	refundable credits. See instructions.				8a	\$	2,750	
b If th	nis application is for Forms 990-PF, 990-T,	4720, or 6	069, enter any refu	undable credits and				
estii	mated tax payments made. Include any prio	r year ove	rpayment allowed a	as a credit and any	}	ļ		
amo	ount paid previously with Form 8868.				8b	\$	2,750	
c Bala	ance due. Subtract line 8b from line 8a. Include yo	ur paymen	with this form, if requ	uired, by using EFTPS		l		
	ctronic Federal Tax Payment System). See instruct		,		8c	s	0	
					1 00	L*		
	Signature and Verifica	tion must	t be completed fo	or Part II only.				
•	Ities of perjury, I declare that I have examined this				nts, a	ing to the b	pest of my	
nowleage a	and belief, it is true, correct, and complete, and that I							
	Toulou O Below	. TAL-	Attachuset	1000 -	_4	8/13	List.	
ignature ▶	Balan O. Bile	- inie ►	MINOTICY CLI	i cv a.v Di	ate ➤	0 113	117	
					F	om 8868 (Rev 1-2014)	